EXAM DATE : 21-February-2018 EXAM START TIME : 10:30:00
EXAM NAME : SSC Examination EXAM DURATION : 02:00 Hrs
TOTAL MARKS : 200 TOTAL NO OF QUESTIONS : 100

QID:1-IfA=1-10+3-12+5-14 4+ 7 + ... upto 60 terms, then what is the value of A?

EA=1-10+3-12+5-14+ 7 + ... 60 Uc} P &, A A DT AF T 3?
Options:

1) - 360

2)-310

3) - 240

4)-270

Correct Answer: — 270

Candidate Answer: — 270

QID : 2 - How many natural numbers are there between 1000 to 2000, which when divided by 341 leaves remainder 5?

1000 ¥ 2000 & Heg VX et Tpfares e ©, o 341 | fanTiord F7 R Qwhdt 5 gl 82
Options:

1)3

2)2

3)4

a1

Correct Answer: 3

Candidate Answer: 3

QID : 3 - Which of the following statement(s) is/are TRUE?

L. V(64) + V(0.0064) + V(0.81) + v/(0.0081) = 9.07
IL. v(0.010201) + v/(98.01) + V/(0.25) = 11.51

Fofifad & @ 19 9/ $UF g 8/8?

1. V(64) + V(0.0064) + V(0.81) + v/(0.0081) = 9.07
I1. v(0.010201) + V/(98.01) + v/(0.25) = 11.51
Options:

1) Only I

Fad 1

2) Only II

Had 11

3) BothIand II

1T II gt

4) Neither I nor II

AR

Correct Answer: Only I

Fad 1

Candidate Answer: Only I

FHad 1

QID : 4 - Which of the following statement(s) is/are TRUE?

L (0.7)2 + (0.07)2 + (11.1)2 > 123.8
IL (1.12)2 + (10.3)2 + (1.05)2 > 108.3

fFafifed & ¥ 1 9/8 U I3 3/8?

1. (0.7)2 + (0.07)% + (11.1)%2 > 123.8
IL. (1.12)% + (10.3)2 + (1.05)2 > 108.3
Options:

1) Only I
Had I
2) Only II

Had II

3) BothIand II
19T 11 31

4) Neither I nor II
FAIagn

Correct Answer: Only II
FHad 11



QID:5-
Which of the following statement(s) is/are

TRUE?
1 1 1 1 12
l. - - Fot———— = —
53 B3xd HuT 11x13 13
1 1 1 1, 12

+ + + ..+ =—
1x2 2x3 3x4 12313 13

Fafe@a § ¥ a9 Iy s o7 §272

1 1 1 1 12
+ 1 Ft——— = —
13 35 Bxi 11x13 13
1 1 1 1 12
- - + .t =—
1x2  2%3 3Jx4 12x13 13

Options:
1) Only I
Fad 1
2) Only II

&ad II

3) BothIand II

1 T 11 Y

4) Neither I nor II
AMIAGI

Correct Answer: Only II
Fad 11

Candidate Answer: Only II

Had 11

QID : 6 - Which of the following statement(s) is/are TRUE?

1. 3/71 < 5/91 < 7/99
II. 11/135 > 12/157 > 13/181

fafofad § ¥ & /3 3 99 8/8?

1. 3/71 < 5/91 < 7/99

II. 11/135 > 12/157 > 13/181
Options:

1) Only I
Fad I

2) Only II

Fad I

3) BothIand II
191 11 31

4) Neither I nor II
A

Correct Answer: Both I and II
19T 11 St

Candidate Answer: Both I and II
19T I g1

QID:7-1If 1+ (1/2) + (1/3) + ... + (1/20) = k, then what is the value of (1/4) + (1/6) + (1/8) + ... + (1/40)?
TR 1+ (1/2) + (1/3) + ... + (1/20) = k &, T (1/4) + (1/6) + (1/8) + ... + (1/40) T A T &?

Options:

1) k/2

2) 2k

3) (k-1)/2

4) (k + 1)/2
Correct Answer: (k — 1)/2
Candidate Answer: (k- 1)/2



QID:8-IfA=232,B=231+230 42294 4+ 20and C =315+ 3144313 4 | 439 then which of the following option is TRUE?

gReA=232,B=231 423042294 420qurc=315+431 43134 4308 O Fufafad & § o9 1 fawen 9 82
Options:

1)C>B>A

2)C>A>B

3)A>B>C

4)A>C>B

Correct Answer: C> A >B
Candidate Answer: A>B > C

QID:9-If x +y = 10 and xy = 4, then what is the value of x* + y*?

T x+y=10TUxy =48, A x* + y* PTAFT AT ?
Options:
1) 8464

2) 8432
3) 7478

4) 6218
Correct Answer: 8432
Candidate Answer: 8432

QID : 10 - M is the largest three digit number which when divided by 6 and 5 leaves remainder 5 and 3 respectively. What will be the remainder when M is divided
by 11?

M T it ) T S T= & O, W9 6 Ut 5 ¥ fayiira forar Siran ® o Qe sHRE 5 auT 3 T 81 e M B 11 F fuiid e o f Awted ' g
Options:

1)1

2)2

3)3

4)4

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID : 11 - Which of the following statement(s) is/are TRUE?

LV5+V5>V7+V3
II. V6 + V7 > V8 + V5
I V3 + V9 > V6 + V6

fafefad # @ & 9173 - 99 2/8?

LV5+V5>vV7++V3
II. V6 + V7 > V8 + V/5
L. V3 + V9 > V6 + V6
Options:

1)Only I

PHad I

2) Only I and II

Had 1 auT II

3) Only IT and III

ad I1 9T 111

4) Only I and III

Had I aT 11T

Correct Answer: Only I and II

&Had 1 U711
Candidate Answer: [ NOT ANSWERED ]

QID:12-

3442 J5-+2
Ifa:m and b:m,

what is the value of a2 + b2 — ab?

B 3
W B— oy BT g

ar a2+ b2 — ab T AT FT §7

then



Options:

1) 97

2) (2V3) +2

3)(4v6) + 1

4) 98

Correct Answer: 97
Candidate Answer: 97

QID : 13 - If the difference between the roots of the equation Ax2 — Bx + C = 0 is 4, then which of the following is TRUE?

e TP Ax? — Bx + C = 0 3 el BT 3icR 4 B, o Fiied § § S 91 9 82
Options:

1) B2 - 16A% = 4AC + 4B?

2) B2 — 10AZ = 4AC + 6A?

3) B2 — 8A% = 4AC + 10A?

4) B2 - 16A2 = 4AC + 8B2

Correct Answer: B2 — 10A2 = 4AC + 6A2

Candidate Answer: B2 — 10A2 = 4AC + 6A2

QID : 14 - a and B are the roots of quadratic equation. If a + B = 8 and a — B = 2V/5, then which of the following equation will have roots a* and B%?

a T g fgard Tifiero & qa &1 afd a + B = 8 AT a — B = 2v5 §, @l a* qur p* Fufafea & ¥ vy weiienu & ga §2
Options:

1) X% - 1522x + 14641 = 0

2) x% + 1921x + 14641 = 0

3) x?— 1764x + 14641 = 0

4) x2+ 2520x + 14641 = 0

Correct Answer: x2 — 1522x + 14641 = 0
Candidate Answer: x2 — 1522x + 14641 = 0

QID : 15 - If a and b are the roots of the equation Px2 — Qx + R = 0, then what is the value of (1/a2) + (1/b2) + (a/b) + (b/a)?

IfE a YT b THIHRUT Px2 — Qx + R = 0 & H@ &, Al (1/a2) + (1/b?) + (a/b) + (b/a) BT HIF T 37

O)ptions:
1
(Q*-2P)(2R+P)
PR?
2)
(@ -2PR)(R+P)
PR?
3)
(@ -2R)(2P +R)
P2R2
4)
(@* -2PR)(2R+2P)
P2R2

Correct Answer:
(@ -2PR)(R+P)
PR?

Candidate Answer:
(@*-2PR)(R+P)
PR?

QID: 16 - If X2 — 16x — 59 = 0, then what is the value of (x — 6)2 + [1/(x — 6)2]?

T x2 - 16x - 59 = 0 B, @l (x — 6)2 + [1/(x — 6)2] I A T §?
Options:

1) 14

2)18

3)16

4) 20

Correct Answer: 18

Candidate Answer: [ NOT ANSWERED ]



QID: 17 - If A and B are the roots of the equation Ax? — A% + AB = 0, then what is the value of A and B respectively?

T A qUT B FHieR0T Ax2 — A2x + AB = 0 & el €, ol HHT: A TUT B BT HH &7 87
Options:

1)1,0

2)1,1

3)0,2

40,1
Correct Answer: 1, 0
Candidate Answer: 1, 0

QID: 18 -
a and B are the roots of the quadratic equation X2 —x — 1 = 0. What is the value of a8 + BS?

a T B feard TfeRu 2 - x - 1 = 0 % a1 §1 a8 + 8 &1 A o1 22
Options:

1) 47

2) 54

3)59

4) 68

Correct Answer: 47

Candidate Answer: 47

QID:19-Ifa+b+c=09 ab+bc+ca=26a +b>=91,b3+c3=72and 3 + a3 = 35, then what is the value of abc?

giea+b+c=9,ab+bc+ca=26a3+b3=91,b3+c3=727U 3+ a3 =358, dl abc BT T T &7
Options:

1) 48

2) 24

3) 36

4) 42
Correct Answer: 24
Candidate Answer: 24

QID : 20 - If x3 — 4x2 + 19 = 6(x — 1), then what is the value of [x2 + (1/x — 4)]?

e x3 - 4x2 + 19 = 6(x — 1) B, A [x2 + (1/x — 4)] BT AF T 8?
Options:
1)3

2)5
3)6

4)8
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]

QID : 21 - Cost of 8 pencils, 5 pens and 3 erasers is Rs 111. Cost of 9 pencils, 6 pens and 5 erasers is Rs 130. Cost of 16 pencils, 11 pens and 3 erasers is Rs 221.
What is the cost (in Rs) of 39 pencils, 26 pens and 13 erasers?

8 U, 5 e T 3 IS &1 Jed 111 T 81 9 AR, 6 e auT 5 I6S o1 Jed 130 T &1 16 TR, 11 HH qUT 3 39S BT 4o 221 T 71 39 URId, 26 o auT 13
TGS HT Ged (T H) |1 8?

Options:

1) 316

2) 546

3) 624

4) 482

Correct Answer: 546

Candidate Answer: [ NOT ANSWERED ]

QID:22-1f 2x + 3y -5z =18, 3x + 2y + z = 29 and x + y + 3z = 17, then what is the value of xy + yz + zx?

YR 2x + 3y —52=18,3x + 2y + 2 =29TUTx + y + 3z = 17§, W xy + yz + zx BT HH R 8?2



Options:
1)32

2) 52
3) 64

4) 46
Correct Answer: 52
Candidate Answer: [ NOT ANSWERED ]

QID : 23 - PQR is an equilateral triangle whose side is 10 cm. What is the value (in cm) of the inradius of triangle PQR?
PQR T THaTg Y § foraast oo 10 9.1, 81 Aysr PQR & ofa:frear &1 o= (3.4, &) w82

Options:
1) 5/V3
2) 10V3
3) 10/V3
4) 5v/2

Correct Answer: 5/v/3
Candidate Answer: 5/v3

QID : 24 - What is the area (in cm?) of the circumcircle of a triangle whose sides are 6 cm, 8 cm and 10 cm respectively?

e By foraa Yot Az 6 9., 8 A1, 9t 10 9.4, 8, & uRqd &1 e (R.1.2 ) F1 82
Options:

1) 275/7

2) 550/7

3) 2200/7

4) 1100/7

Correct Answer: 550/7
Candidate Answer: 550/7

QID: 25-

In the given figure, MNOP is a parallelogram.
PM is extended to Z. OZ intersects MN and
PN at Y and X respectively. If OX = 27 cm and
XY = 18 cm, then what is the length (in cm) of
YZ?

& 7S FHfa A, MNOP W& WA dgat
g1 PM & Z g% Sorar = g1 OZ, MN a=T
PN & ®AT: Y a7 X W ufa=ae &l g
Ife OX =27 @A 92r XY =18 @& g, ar
YZ $r JFars (FAT. #) 7 82

Z
M——— N
P @)
Options:
1) 21.4
2) 225
3)23.8
4) 24.5

Correct Answer: 22.5



Candidate Answer: [ NOT ANSWERED ]

QID : 26 - ABCD is a trapezium in which AB is parallel to CD and AB = 4(CD). The diagonals of the trapezium intersects at O. What is the ratio of area of triangle
DCO to the area of the triangle ABO?

%BCDWW%WAB, CD & GHIR § TUT AB = 4(CD) B | THTH ¥ w0l 0 R ufaeded 3 81 AIYS DCO F &a%a &7 s ABO & &% § T SUTd
?

Options:

1)1:4

2)1:2

3)1:8

4)1:16

Correct Answer: 1 : 16
Candidate Answer: 1: 16

QID: 27 -

In the given figure, ABC is an equilateral
triangle. Two circles of radius 4 cm and12
cm are inscribed in the triangle. What is the
side (in cm) of an equilateral triangle?

& T Wl A, ABC T TR fe
¢l 4 A qu12 3. B3 ard & ged
Bfst & 3ifha &1 @&EHIOT Tega & o
(Tr.HT. ;) 77 82

Options:

1) 32/V3

2) 32v3

3) 64/V3

4) 64v/2

Correct Answer: [ No Correct Answer ]

Candidate Answer: 32v3



QID: 28 -

In the given figure, SXis tangent. SX = OX =
OR. If QX =3 cm and PQ = 9 cm, then what
is the value (in cm) of OS?

&r a2 TR H, SX Te T [@ ¥l SX =
OX=0R g afg QX =3 T.&. Jar PQ =9
.#L & dr OS &1 A (H.#L. #H) 41 87

P

Options:

1)6

2)5

3)4

4)3

Correct Answer: 3
Candidate Answer: 3

QID : 29 - PAB and PCD are two secants to a circle. If PA = 10 cm, AB = 12 cm and PC = 11 c¢m, then what is the value (in cm) of PD?

PAB YT PCD T 90 R G 9e X@U &1 afG PA = 10 X T, AB= 12 ¥. W quipc = 11 . H. &, Ao o1 aF . . H) 7 82
Options:

1) 18

2)9

3)20

4)12

Correct Answer: 20

Candidate Answer: 20

QID : 30 - Triangle PQR is inscribed in a circle such that P, Q and R lie on the circumference. If PQ is the diameter of the circle and 2PQR = 40°, then what is the
value (in degrees) of zQPR?

TP g T FAYS PQR T TR 3ifhd & f& P, Q TuT R uRkf W fRT §1 TS PQ 907 &1 =T § AT 2PQR = 40° B, At QPR &1 A (&3t H) T &2

Options:

1) 40

2) 45

3) 50

4) 55

Correct Answer: 50
Candidate Answer: 50



QID:31-

In the given figure, L/QRU = 72°, /TRS =
15° and /PSR = 93°, then what is the
value (in degrees) of Z/PQR?

& TS pfd H, LQRU = 72°, LTRS =
15° dar ZPSR = 95° §, dI ZPQR @l
At (33l &) o7 2

P Q
S
T R U

Options:
1) 85
2) 95
3)75
4) 90

Correct Answer: 95
Candidate Answer: 85

QID : 32 - What can be the maximum number of common tangent which can be drawn to two non-intersecting circles?
3 R-ufod) ool F sfieman bt srgeust Y Wi s Tt 82

Options:

1)2

2)4

3)3

4)6

Correct Answer: 4
Candidate Answer: 4

QID : 33 - Triangle PQR is inscribed in the circle whose radius is 14 cm. If PQ is the diameter of the circle and PR = 10 cm, then what is the area of the triangle
PQR?

Y PQR T e Yo 14 3.1, B, 7 3ifed 71 3T PQ I &7 = § AT PR = 10 9.7, B, T YT PQR &1 &t 7T 82
Options:

1) 196

2) 30v19

3) 40V17

4) 35V21

Correct Answer: 3019

Candidate Answer: 30v19

QID : 34 - PQR is a right angled triangle in which PQ = QR. If the hypotenuse of the triangle is 20 cm, then what is the area (in cm?) of the triangle PQR?
PQR Teh GHIUN 3y B R/ PQ = QR B1 afe Byt o1 uf 20 V.10 §, & Byl PQR &1 & &arht (A.7.2 #) & ar 82

Options:

1) 100v2

2) 100

3) 50v2

4) 50

Correct Answer: 100
Candidate Answer: 100



QID : 35 - PQRS is a square whose side is 20 cm. By joining opposite vertices of PQRS are get four triangles. What is the sum of the perimeters of the four
triangles?

PQRS e ol & Forarapt Y 20 .41, §1 PQRS & Tt 2l @1 fire R =R Fiys ore 814 81 IR Biysi & uRArd) o1 4 &1 g2
Options:

1) 40v2

2) 80v2 + 80

3) 40V2 + 40

4) 40v2 + 80

Correct Answer: 80v2 + 80
Candidate Answer: 40v2 + 80

QID : 36 - If ABCDEF is a regular hexagon, then what is the value (in degrees) of 2ADB?

I ABCDEF U TH WU &, dl ADB &1 0 (&3 o) a1 82
Options:

1) 15

2) 30

3) 45

4) 60

Correct Answer: 30

Candidate Answer: 30

QID : 37 - ABCD is square and CDE is an equilateral triangle outside the square. What is the value (in degrees) of BEC?

ABCD U gl § @1 CDE a*f & STeR U HaTg FIYS 81 £BEC %1 91 (f&h &) ®m 82
Options:

1) 15

2) 30

3)25

4)10

Correct Answer: 15

Candidate Answer: 15

QID : 38 - There is a circular garden of radius 21 metres. A path of width 3.5 metres is constructed just outside the garden. What is the area (in metresz) of the
path?

21 Tiex FouT aTe U qehR I g1 STH 31 aeR 3.5 Wex AISTs arel T Uy &7 FHHior {3501 7/ 1 uy &7 8awd (Hiex? o) o1 82

Options:
1) 50.05
2) 57.56
3) 52.12
4) 56.07

Correct Answer: [ No Correct Answer ]
Candidate Answer: 50.05



QID:39-

In the given figure, PQRS is a square whose
side is 8 cm. PQS and QPR are two
guadrants. A circle is placed touching both the
guadrants and the square as shown in the
figure. What is the area (in cm?) of the circle?

& % FWPpfa &, PQRS TH T § o
doT 8 WHL. ¥l PQS T QPR gcd & al
agd #r §| TH ged, Jed & gt agy
A FAT g9 F T W W g oo F
Hepfd # g T ged F OG0

@Az #) Fr g2
S R
P Q

Options:

1) 13/17

2) 11/14

3) 19/31

4) 15/19

Correct Answer: 11/14
Candidate Answer: [ NOT ANSWERED ]

QID : 40 - The base of a prism is in the shape of an equilateral triangle. If the perimeter of the base is 18 cm and the height of the prism is 20 cm, then what is the
volume (in cm?3) of the prism?

o fieT 37 SR THEg BYS & 3R A 71 afg anur o uRkfy 18 9., § au1 fied ot = 20 9., B, O rew &1 e (3.3 W) w82
Options:

1) 60v3

2) 30v6

3) 60v2

4) 120V3

Correct Answer: [ No Correct Answer ]

Candidate Answer: [ NOT ANSWERED ]

QID : 41 - The height of a cone is 24 cm and the area of the base is 154 cm2. What is the curved surface area (in cm?) of the cone?
TF G B S 24 9.1, § qUT MR BT &5 154 9.2 1 W% F aob yuig &owwd (J.H.2 H) @ 32

Options:
1) 484
2) 550
3) 525
4) 515

Correct Answer: 550
Candidate Answer: 550

QID : 42 - A right circular solid cylinder has radius of base 7 cm and height is 28 cm. It is melted to form a cuboid such that the ratio of its side is 2 : 3 : 6. What is
the total surface area (in cm?) cuboid?

% TH JAIGR 3N 9eH & YR &1 Boar 7 3.1, aur Sarg 28 .1, B1 9 R U6 ¥ S0 UHR SR STl § 35 STqPHT YT BT SFU 2 : 3 : 6 81 I &I
Fd gEig e (3.2 H) T 82



Options:

N
-

%)
-
o
[8)]

r
e
Y
[o0]

2

2048

| EE—

3

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]

QID : 43 - A right circular cylinder is formed. A = sum of total surface area and the area of the two bases. B = the curved surface area of this cylinder. f A: B=3:
2 and the volume of cylinder is 4312 cm3, then what is the sum of area (in cmz) of the two bases of this cylinder?

T 91 JOIPR I S11 &I 51 A = $ GETA Q60 BT IRT TU1 &l SHTURT BT &5 | B = 39 I B1 a5 YHIT 875 | A A 2 B = 3 : 2 TUT IAF BT 3HTIT 4312
A3 2, AN T I B S SMURT &b AFAwd (I.7.2 F) &1 1 IR 1 82

4) 616
Correct Answer: 308
Candidate Answer: [ NOT ANSWERED ]

QID : 44 - A solid sphere has a radius 21 cm. It is melted to form a cube. 20% material is wasted in this process. The cube is melted to form hemisphere. In this
process 20% material is wasted. The hemisphere is melted to form two spheres of equal radius. 20% material was also wasted in this process. What is the radius (in
cm) of each new sphere?

TP oI T 31 Biear 21 T, 1 39 U T o ST St 81 39 Wishar | 20% IREht ol €1 Wi §1 O 6 ey U Sieien S S 31 39 Ufshar #
%O%Hrqtﬁw%fs‘ram%l eI Y forereme & G Brean aret &1 et S S §1 39 wishar & +ff 20% grght off ooed §) 7 o1 e u et @t Bar (.. F) @
?

Options:
1)

4.2(32)
21(2)
2.1(%/3 |
411.2(%/3)

Candidate Answer:

4.2(3/4)

QID : 45 - A solid hemisphere has radius 14 cm. It is melted to form a cylinder such that the ratio of its curved surface area and total surface area is 2 : 3. What is
the radius (in cm) of its base?

gmaﬁ%i%%ﬁgﬁaﬁgw14@Uﬂ.%lsﬁﬁwwwwwww%%mwmmamﬁmmwwz:3%|sﬂé?aﬂsrr€aﬁ
([.490. °) R’ g?



21

33
Correct Answer:

i

43
Candidate Answer:

ik

i3
QID : 46 - A cuboid has dimensions 8 cm x 10 cm x 12 cm. It is cut into small cubes of side 2 cm. What is the percentage increase in the total surface area?

TH 9 &1 3 8 At x 10 F.AL x 12 A, F1 3V 2 VA, Y a1d B = F Blel 91 81 o gei aawd | fhan vfawa o1 af@ g8 &2
Options:

1)p 286.2

2) 314.32

3) 250.64

4) 386.5

Correct Answer: 386.5

Candidate Answer: 386.5

QID : 47 - A pyramid has a square base. The side of square is 12 cm and height of pyramid is 21 cm. The pyramid is cut into 3 parts by 2 cuts parallel to its base.
The cuts are at height of 7 cm and 14 cm respectively from the base. What is the difference (in cm3) in the volume of top most and bottom most part?

T RIS &7 R T i B @l )y 12 A1, Jut foRifrs &t Sarg 21 V.. 71 ARifirs &) 39 SMUR & JHIGR 2 Herdl 3 UFT & Plel ol | Herd 3R
YA 7 ., T 14 T, B FIE W B GG IR IUT I 1= & HIT & 3 BT 3R (@73 W) | g?

Options:

1) 872

2) 944

3) 786

4)918

Correct Answer: [ No Correct Answer ]

Candidate Answer: 872

QID : 48 - What is the value of {(sin 4x + sin 4y) [(tan 2x — 2y)]}/(sin 4x — sin 4y)?

{(sin 4x + sin 4y) [(tan 2x — 2y)]}/(sin 4x — sin 4y) BT A T 7
Options:

1) tan 2 (2x + 2y)

2) tan?

3) cot (x —y)

4) tan (2x + 2y)

Correct Answer: tan (2x + 2y)

Candidate Answer: tan (2x + 2y)

QID : 49 - What is the value of (32 cos® x — 48 cos* x + 18 cos? x — 1)/[4 sin x cos x sin (60 — x) cos (60 — x) sin (60 + x) cos (60 + x)]?

(32 cos® x — 48 cos* x + 18 cos? x — 1)/[4 sin x cos x sin (60 — x) cos (60 — x) sin (60 + x) cos (60 + x)] T HIT T 77
Options:

1) 4 tan 6x

2) 4 cot 6x

3) 8 cot 6x

4) 8 tan 6x

Correct Answer: 8 cot 6x

Candidate Answer: [ NOT ANSWERED ]



QID : 50 - What is the value of [2 cot x (p — A)/2]/[1 + tan? x (2p - A)/2]?

[2 cot x (p—A)/2]/[1 + tan? x (2p — A)/2] T TH T 0
Options:

1) 2sin2 A2

2)cos A

3)sinA

4) 2 cos? A2

Correct Answer: sin A

Candidate Answer: sin A

QID : 51 - If tan 8 + sec 8 = (x — 2)/(x + 2), then what is the value of cos 6?

Tfe tan B + sec B = (x — 2)/(x + 2) B, I cos 6 BT HIF T 82
Options:

1) (x2 - 1)/(x2 + 1)

2) (2x% - 4)/(2X2 + 4)

3) (X2 - 4)/( + 4)

4) (X% - 2)/(x% + 2)

Correct Answer: (x% — 4)/(x? + 4)

Candidate Answer: (x2 — 4)/(x2 + 4)

QID : 52 - What is the value of (cos 40° — cos 140°)/(sin 80° + sin 20°)?

(cos 40° — cos 140°)/(sin 80° + sin 20°) T HIH T 77
Options:

1) 2v3

2) 2/V3

3) 1/V3

4) 3

Correct Answer: 2/V/3

Candidate Answer: 2/v3

QID : 53 - What is the value of [1 — tan (90 — 8) + sec (90 — 6)]/[tan (90 — 6) + sec (90 — 6) + 1]?

[1—tan (90 — 6) + sec (90 — B)]/[tan (90 — 6) + sec (90 — B) + 1] &I HIF AT ?
Options:

1) cot (6/2)

2) tan (6/2)

3)sin 0

4) cos 0
Correct Answer: tan (6/2)
Candidate Answer: tan (6/2)

QID : 54 - What is the value of [sin (90 — A) + cos (180 — 2A)]/[cos (90 — 2A) + sin (180 — A)]?

[sin (90 — A) + cos (180 — 2A)]/[cos (90 — 2A) + sin (180 — A)] T HIH I 2
Options:
1) sin (A/2) cos A

2) cot (A/2)
3) tan (A/2)

4) sin A cos (A/2)
Correct Answer: tan (A/2)
Candidate Answer: cot (A/2)

QID : 55 - The distance between the tops of two building 38 metres and 58 metres high is 52 metres. What will be the distance (in metres) between two buildings?

3 SRG 38 Hier quT 58 Hex St €, & Mol & Aer gt 52 Hiex ¥ I SURG! P A Bt 1 (Hiex W) 741 gFie
Options:

1) 46

2) 42

3)44

4)48

Correct Answer: 48

Candidate Answer: 48

QID : 56 - The angles of elevation of the top of a tree 220 meters high from two points lie on the same plane are 30° and 45°. What is the distance (in metres)
between the two points?

220 Hex = U gl & < g 3ft T JHM aa TR S0 HIT 30° T 45° ¥ & fagant & Heg gt (fiex o) w82



Options:
1) 193.22
2) 144.04
3)176.12
4) 161.05

Correct Answer: 161.05
Candidate Answer: 144.04

QID : 57 - The angles of elevation of the top of a tower 72 metre high from the top and bottom of a building are 30° and 60° respectively. What is the height (in
metres) of building?

72 Hierx $2 T HHR & Y &1 SART & SHW qUT 19 ¥ ITT B0 HH: 30° TUT 60° T1 TART BT Hars (Hex H) F 7 82
Options:

1) 42

2) 20v3

3) 24v3

4)48

Correct Answer: 48

Candidate Answer: 48

QID: 58-
The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biology and Physics examination respectively.

da & o e # & T o wemet # uw
Rftea Regemr ¥ seuitya Remfier fr =
T 3Tty i & wfoaa & g = 2l
Ug diforerT &AW i faae gur sifadr fir afer
#F 3ufPyg Refdat & gfdea = of i §1

= i Biology Bt o
Absent / resen {in n/a)l'l YSICS

School / (in %) 1 (in %)/
farerer T | sqfeera il siffr
(% #) Y s | TEEe g

(% #) % #) (% #)

K 83300 65 32 68
L 101520 60 29 1
M 113520 40 30 70
N 60830 65 42 58
0 24003 55 25 75

What is the difference between the number of students who were present in Physics and Biology examination from school N?

fommerm N ¥ et qur Sha foem &t oien & Sufkyd feanffal ot gem o o1 oidR 82

Options:
1) 21150

2) 14352
3) 22594

4) 24250
Correct Answer: 22594
Candidate Answer: [ NOT ANSWERED ]



QID: 59 -
The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biology and Physics examination respectively.

g & g aifee & & W% g et # o=
Tafeesa ez ¥ seuitya fegmfyat & s
gur 3uftyg eafiat & gfaeag # gurar r &)
g arfereT A g A gur diedr frooder
# zuftya feafiat & aftera #r ofr e &

% ; Biology 2
Absent / resen {in l%).'.' ysIics

School / (in %) 1 g (in %)/
(% #) i ¥ e S
(% #) % #) (% #)

K 83300 65 32 68
L 101520 60 29 79
M 113520 40 30 70
N 60830 65 42 58
) 24003 55 25 75

Number of students who were present in Physics examination from school M is what percent of number of students who were absent from school M, L and O?

faemam M ¥ i ot oiten & IufRa faenfiat a9 Tem, faerem M, L awr o & srufya faenffal &t sikem &1 fsam ufowra &2
Options:

1) 22.48

2) 29.28

3) 9.09

4)13.4

Correct Answer: [ No Correct Answer ]

Candidate Answer: [ NOT ANSWERED ]



QID: 60 -
The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biology and Physics examination respectively.

g & g aifee & & W% g et # o=
Tafeesa ez ¥ seuitya fegmfyat & s
gur 3uftyg eafiat & gfaeag # gurar r &)
g arfereT A g A gur diedr frooder
# zuftya feafiat & aftera #r ofr e &

2 i Biology 2
Absent / resen {in l%).'.' ysIics

School / (in %) 1 g (in %)/
(% #) i ¥ e S
(% #) % #) (% #)

K 83300 65 32 68
L 101520 60 29 79
M 113520 40 30 70
N 60830 65 42 58
) 24003 55 25 75

What is the average of the number of the students who were present in Physics examination from school N, K and L?

e N, K auT L § Difde! & when § Sufya faanfial o e o1 shad =1 82

Options:
1) 109635

2) 84632
3) 74365

4) 67894
Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]



QID: 61-
The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biology and Physics examination respectively.

g & g aifee & & W% g et # o=
Tafeesa ez ¥ seuitya fegmfyat & s
gur 3uftyg eafiat & gfaeag # gurar r &)
g arfereT A g A gur diedr frooder
# zuftya feafiat & aftera #r ofr e &

2 i Biology 2
Absent / resen {in l%).'.' ysIics

School / (in %) 1 g (in %)/
(% #) i ¥ e S
(% #) % #) (% #)

K 83300 65 32 68
L 101520 60 29 79
M 113520 40 30 70
N 60830 65 42 58
) 24003 55 25 75

What are the total number of students who were present in the Biology examination from all the schools together?

Tt faemeral @ freres Sha fag @1 when & Reniid) &t po dom i 8?
Options:
1) 193462

2) 249048
3) 326438

4) 211738
Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]



QID: 62-
The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biology and Physics examination respectively.

g & g aifee & & W% g et # o=
Tafeesa ez ¥ seuitya fegmfyat & s
gur 3uftyg eafiat & gfaeag # gurar r &)
g arfereT A g A gur diedr frooder
# zuftya feafiat & aftera #r ofr e &

2 i Biology 2
Absent / resen {in %l-).l' ysIics

School / (in %) 1 g (in %)/
(% #) i ¥ e S
(% #) % #) (% #)

K 83300 65 32 68
L 101520 60 29 79
M 113520 40 30 70
N 60830 65 42 58
) 24003 55 25 75

If the number of students who were present in the Physics examination from school A is 250% of the difference of the number of the students who were present in
Physics and Biology examination, from school K, then what is the ratio of the number of students who were present from school L to humber of students who were
present in Physics examination from school A?

gfe faemera A ¥ i foRm &1 wden & el o) wem, faeme K & Wiae R qur sia foqe &t wiien & IufRd faefil 3t gem & me &1 SiaR 250% &, @
faener L @ pa Iufyd faenffal 3t wem o1 faemea A § Wfae foe ot wden & Iufd oo o @) W I &1 uTd 82

Options:

1) 5079 : 4631

2) 1692 : 1547

3) 1547 : 4631

4) 1692 : 2345

Correct Answer: 1692 : 1547

Candidate Answer: [ NOT ANSWERED ]

QID : 63 - A jar contains a blend of a fruit juice and water in the ratio 5 : x. When 1 litre of water is added to 4 litres of the blend the ratio of fruit juice to water
becomes 1 : 1. What is the value of x?

Wmﬁ@wwmqﬁﬁwﬁmw%maﬂ&@qms : X 81 9T 4 iex F fysor 1 diiex U foreman e § O B & 3 SR U BT 3T 1 : 1 8 S 3
X BT A T 82

Options:

1)3

2)1

3)2

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 64 - An alloy contains copper and tin in the ratio 3 : 2. If 250 gm of copper is added to this alloy then the copper in it becomes double the quantity of tin in it.
What is the amount (in gm) of tin in the alloy?

T iy erg § qie SR o 1 o/guTd 3 - 2 81 TfE 39 vy g & 250 T i five faam o € o S U dieT T U T B A &1 ST 8 ST 81 59
s g o fout febait wmm (o &) & @2

Options:

1) 250

2) 750

3) 1000

4) 500

Correct Answer: 500

Candidate Answer: 500



QID : 65 - A starts a cement trading business by investing Rs 5 lakhs. After 2 months, B joins the business by investing Rs 10 lakhs and then 4 months after B
joined C too joins them by investing Rs 20 lakhs. 1 year after A started the business they make Rs 3,50,000 in profit. What is B's share of the profit (in Rs)?

A, 5 TRG FUT BT I B Y ATIR BT Fawrg YRY BT 31 2 T 918 10 TRI UL BT 3% b B ot AR F I W1l 8 TUT B & ORI G F 4
T a1g ¢ o 20 TRE FUTT FT A IRG IR W IS AT 81 A F AR URH A & 1 9 U 3¢ IR H 3,50,000 U BT &Y gl 31 @1 & B &7 fgwan
fopae (vuai ) &2

Options:

1) 75000

2) 1,25,000
3) 1,50,000

4) 1,00,000
Correct Answer: 1,25,000
Candidate Answer: 1,25,000

QID: 66 - A, B and C invest in a business in the ratio 3 : 6 : 5. A and C are working partners. Only B is a sleeping partner hence his share will be 3/4th of what it
would have been if he were a working partner. If they make Rs 50,000 profit, half of which is reinvested in the business and the other half is distributed between the
partners, then how much does C get (in Rs)?

A, BT CTHR AMUR H 3 : 6 : 5% 3urd H 9% B §1 A TUT C IfHTT UER (Ifhg WriieR) &1 i B THfthT UiR § 31d: SUHT 3w 39 5= &7 3/4 gvm ot
JU& 9T UER 89 W gaTl afd 3 50,000 TYA 6T A1 SiaT & o § 38 TR &1 T IR o 333 o foan Srar § oiR a1t & 308 T & iRl g1 afe
foram Strar B Y € ) fopan (vuat F) fydmm

Options:

1) 20000

2) 6000

3) 10000

4) 9000

Correct Answer: 10000
Candidate Answer: 10000

QID : 67 - A can do a work in 21 days and B in 42 days. If they work on it together for 7 days, then what fraction of work is left?

A T8 o DY 21 37 H &% Tobdl © 3R B 39 42 a7 H &2 oba1 31 At 3 7 fa7 T I1y 1\ Ra § o 1 b1 fobedr feegm s=m?
Options:

1) 1/3

2) 1/4

3)2/3

4)1/2
Correct Answer: 1/2
Candidate Answer: 1/2

QID : 68 - A can paint a house in 55 days and B can do it in 66 days. Along with C, they did the job in 12 days only. Then, C alone can do the job in how many
days?

f\ﬁzm;ﬁmaﬁ 55 faf & e R THar § iR B 3 66 fall § IR IhdT g1 C & TN e 3 39 10 &1 12 o & T % Ihd &1 @ C bl 39 19 1 fvem A &
?

Options:
1) 24

2) 44
3)33

4) 20
Correct Answer: 20
Candidate Answer: 20

QID : 69 - A, B and C together can finish a task in 12 days. A is twice as productive as B and C alone can do the task in 36 days. In how many days can A and B do
the task if C goes on leave?

A, BTYUT C freft 18 &) U W1y 12 371 B el R Ad &1 B &Y Ja1 | A & T ¥ I SRl § SR C 13hal 39 B9 HI 36 forl H R Iobel g1 3G C gl |
AT ST 8 A SR B fBea) 50 & &) foa fo & v o

Options:

1) 10

2) 20

3) 15

4)18

Correct Answer: 18

Candidate Answer: 18

QID : 70 - A, B and C can together do a job in 9 days. C alone can do the job in 36 days. In how many days can A and B do 50% of the job working together?
A, BT C forelt 1 1 9 = H 1 R O §1 C 31l 9 BT Y 36 {31 H &R AT 81 A TUT B U 1Y HTH I §U 50% B faa ot & ax o



Options:
1)6

2) 12
3)9

4) 15
Correct Answer: 6
Candidate Answer: 6

QID : 71 - Giving two successive discounts of 25% is equal to giving one discount of %.

25% ) & AR BT ___% B T Fe & SRIaR gl 8
Options:

1) 43.75

2) 56.25

3) 50

4) 45
Correct Answer: 43.75
Candidate Answer: 43.75

QID : 72 - If a watch is being sold at Rs 7,225 which is marked at Rs 8,500, then what is the discount (in %) at which the watch is being sold?

T IS Ut ! 3ifded FiAd 8,500 T § 7,225 FuG! H a0 S © o 7St R et ge (% H) & wi
Options:
1) 24

2) 15
3) 25

4) 20
Correct Answer: 15
Candidate Answer: 15

QID : 73 - On a machine there is 10% trade discount on the marked price of Rs 2,50,000. But the machine is sold at Rs 2,16,000 after giving a cash discount. How
much is this cash discount (in %)?

T TR o R 3ifdhd BIAd 2,50,000 T § TR 10% Fe < Wil § 1 TReg A& Be oA & a1g M 2,16,000 UG & <t SR §1 g Be (% H) fbat o
Options:

1)5

2) 4

3)6

47

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID : 74 - A trader marks up his goods by 120% and offers 30% discount. What will be the selling price (in Rs) if the cost price is Rs 750?

TP ATORT 30 T3l TR Ted 120% ¥ FgIan RIfRd aRaT § 3R 30% % &1 e a1 5l afe anmd Ted 750 =0l g1 dl faeha Iew (3udl &) F1 grm?
Options:

1) 1225

2) 1080

3) 1280

4) 1155

Correct Answer: 1155
Candidate Answer: [ NOT ANSWERED ]

QID : 75 - Sanjay's test marks in two subjects, English and Hindi are in the ratio 7 : 11. If he got 20 marks more in Hindi than in English, what are his marks in
English?

& fawat sl ok f&dt & udlen & T & il o7 SuId 7 : 11 71 3 3Hih &t gomm & 39 &< & 20 i 31 e €, O st & I foran sia forer
i

2) 55

3) 45

4) 65
Correct Answer: 35
Candidate Answer: 35

QID : 76 - The ratio of present ages of Simi and Seema is 5 : 4. After 9 years the ratio of their ages will be 8 : 7. What is Simi's present age (in years)?

et IR T BT FH TG BT U 5 : 4 T1 9 TN a1 BT TG BT U 8 : 7 B e Ryt Y acdae oy 1 § (anf H)?



Options:
1) 12

2) 15
3) 24

4) 21
Correct Answer: 15
Candidate Answer: 15

QID : 77 - Find the third proportional to 6 and 12.

6 TUT 12 T TATERT SJUTRID @t |
Options:
1) 18

2)9
3)24

4) 15
Correct Answer: 24
Candidate Answer: 24

QID : 78 - According to the will the wealth of Rs 21,25,000 was to be divided between the son and the daughter in the ratio 7/6 : 5/3. How much did the son get
(in Rs)?

T & IR 21,25,000 T B WURY B G 3R T H 7/6 ¢ 5/3 & AU | qieT T TF B b e (zuar #) firare
Options:
1) 875000

2) 12,50,000
3) 10,00,000

4) 11,25,000
Correct Answer: 875000
Candidate Answer: 875000

QID : 79 - If Rs 25,000 is to be divided between A, B and C in the ratio 1/10 : 1/6 : 1/15, then how much will C get (in Rs)?

g 25,000 ¥ BT A, B AT C H 1/10 : 1/6 : 1/15 & SI0Td § Fiel ST df C ST &1 (39 7) forerme
Options:
1) 5000

2) 7500
3) 10000

4) 12500
Correct Answer: 5000
Candidate Answer: 5000

QID : 80 - Rizwan has a box in which he kept red and blue marbles. The red marbles and blue marbles were in the ratio 5 : 4. After he lost 5 red marbles the ratio
became 10 : 9. How many marbles does he have now?

foTaT = v 5 & e SR et e ot mitar Tl €1 wrer qur el it 5 : 4 & U § €1 5 A e TS % 918 SgUTd 10 ¢ 9 8 Wil €| S U 39
foraet mifer =t &2

Options:

1)81

2) 86

3)76

4)91

Correct Answer: 76

Candidate Answer: 76

QID : 81 - The average weight of L, M and N is 93 kg. If the average weight of L and M be 89 kg and that of M and N be 96.5 kg, then the weight (in kg) of M is

L, M @1 N T 309 a9 93 {71, 81 3fe L 3R M &7 3 awi 89 . 1. 3R M quT N &7 3iyd awi 96.5 5.1, & Y M &1 aor .71, g
Options:

1) 92

2) 86

3) 101

4)95

Correct Answer: 92

Candidate Answer: 92



QID : 82 - Mahesh buys 3 shirts at an average price of Rs 1250. If he buys 2 more shirts at an average price of Rs 1450 what will be the average price (in Rs) of all
the 5 shirts he buys?

TR 1250 IUT F N He A A T¢ wlear 31 afe 98 1450 U F 3N Hed A <1 3R 2 e § dF wdie e gt uiet wref o1 sivrd I (3t §) o v
Opti :
1) 1370
2) 1330
3) 1310
4) 1390

Correct Answer: 1330
Candidate Answer: 1330

QID : 83 - In a one day match of 50 overs in an innings the Team A had a run rate of 6.1 runs per over. Team B is playing and 10 overs are left and the required
run rate to tie the match is 6.5 per over. What is Team B's score now?

50 3R & Uep eadia A9 § A9 A 7 U U § U 3R 6.1 B &R A I 991 | A B Tl 8T ® 3R 10 3R 52 § a1 A9 &1 <18 8 & AT 3mawges 31 ¥e 6.5 Ul
3R §1 A B &1 @R 3l 1 87

Options:

1) 235

2) 230

3) 240

4) 225

Correct Answer: 240
Candidate Answer: 240

QID : 84 - Average of all even numbers between 222 and 250 is
222 3R 250 % g B T I Geel BT ST R

Options:
1) 234

2) 232
3) 236

4) 230
Correct Answer: 236
Candidate Answer: 236

QID : 85 - A vendor buys bananas at 7 for Rs 6 and sells at 6 for Rs 7. What will be the result?

T fashdl 6 T H 7 $d @adT & 3R 7 TUA & 6 ) ST &1 3BT URUITH 1 gIT?
Options:

1) 36.1% loss

36.1% g1

2) 26.5% profit

26.5% TTH

3) 36.1% profit

36.1% ATH

4) 26.5% loss

26.5% g1

Correct Answer: 36.1% profit
36.1% oY

Candidate Answer: 36.1% profit
36.1% <Y

QID : 86 - A miner sells a diamond to a trader at a profit of 40% and the trader sells it to a customer at a profit of 25%. If the customer pays Rs 56 lakhs to buy
the diamond, what had it cost the miner (in Rs lakhs)?

T T ol TR B 40% P TH TR T SR S<IaT § 3R TR 3 25% & TH W AT B! 99T 81 T A6 - 37 8RR B! Wi P o 56 7RG 30T BT
YT far § df Wfe &1 g §R1 fba Ut (aTRa dua &)  fiyare

Options:

1) 30

2)28

3)25

4) 32
Correct Answer: 32
Candidate Answer: 32

QID : 87 - A grocer had 1600 kgs of wheat. He sold a part of it at 20% profit and the rest at 12% profit, so that he made a total profit of 17%. How much wheat (in
kg) did he sell at 20% profit?

TS 3T fashal & U 1600 fFamg g &1 $9% T YN BT I 20% AT TR 341 3R 16! 521 §U HIT Bl 12% AT TR 9471 39 TSR I8 o 17% AT 3T I
20% T TR fem g (Frarm &) s=m



Options:
1) 600

2) 1000
3) 800

4) 1200
Correct Answer: 1000
Candidate Answer: 1000

QID : 88 - A used two-wheeler dealer sells a scooter for Rs 46,000 and makes some loss. If he had sold it for Rs 58,000 his profit would have been double his loss.
What was the cost price (in Rs) of the scooter?

R ¢-HITR F faghdr 3 T Whex 46,000 T B 51 3R IV F& JHIM gail| S ST S 58,000 ¥ & F97 BT Y SUHT AIY 3P THAM U AT 8l Tper
BT AT Hed (Ul H) Fa1 U1

Options:

1) 52000

2) 54000

3) 48000

4) 50000

Correct Answer: 50000
Candidate Answer: 50000

QID : 89 - 0.08% of 120% of 50,000 is equal to

50,000 T 120% T 0.08% P TR B
Options:

1) 480

2) 48

3) 4800

4) 4.8

Correct Answer: 48

Candidate Answer: 48

QID : 90 - When a number is increased by 24, it becomes 115% of itself. What is the number?

S 3t e HY 24 J TG Of1dT § o 98 W BT 115% B ol 8| I8 TeHT T 87

Options:
1) 160

2) 250
3) 100

4) 200
Correct Answer: 160
Candidate Answer: 160

QID : 91 - Two numbers are 40% and 80% lesser than a third number. By how much percent is the second number to be enhanced to make it equal to the first
number?

& TReATy forelt Rt TR T 40% SR 80% HH §1 guL) W Y faran vf=id I T WY 3 9% g T F SRS gl e
Options:
1) 100

2)33.3
3) 66.6

4) 200
Correct Answer: 200
Candidate Answer: 66.6

QID : 92 - Price of diesel increased from Rs 45/litre to Rs 50/litre. How much should the consumption of diesel be reduced (in %) so as to increase expenditure by
only 5%?

ST BT PG 45 TU Ul THex Y TG 50 Y TS TR 81 9l 81 SId 31 Wud B a1 B (% H) a1 S 5 o Fad 5% a6 & 962
Options:
1)55

2)5
3)4

4)4.5
Correct Answer: 5.5
Candidate Answer: 5.5



QID : 93 - A plane flies a distance of 1800 km in 5 hours. What is its average speed in meters/second?

P13 @ 5 ¢ H 1800 fraiificr Isar 71 Hiey/dds & gua! fd o1 gRit?
Options:
1) 200

2) 10
3) 20

4) 100
Correct Answer: 100
Candidate Answer: 100

QID : 94 - If a boat goes upstream at a speed of 24 km/hr and comes back the same distance at 40 km/hr. What is the average speed (in km/hr) for the total
journey.

I HIg 19 URT B = o 24 5.1 /eer Y 7fa J Fercht § oM It 81 g8 I 40 5.t der Bt i @ ara ot §1 et amn Y ofvd Tifa (1. it e ) @ 82
Options:

1) 32

2) 30

3)31

4)33

Correct Answer: 30

Candidate Answer: 30

QID : 95 - Two bikers A and B start and ride at 75 km/hr and 60 km/hr respectively towards each other. They meet after 20 minutes. How far (in km) were they
from each other when they started?

& I8P TAR A 3R B TH GIR B1 3R HHR: 75 . Ht./wier 3R 60 .t /et ) i @t € I & 9@ URY FRa €1 3 20 e a1 th g 3 fed §1 99 36
T URY a1 o1 9 371 g &t g (fop. /. &) & o

Options:

1) 60

2) 45

3)30

4)15

Correct Answer: 45

Candidate Answer: 45

QID : 96 - Excluding stoppages, the speed of a bus is 80 kmph and including stoppages, it is 60 kmph. For how many minutes does the bus stop per hour?

R @) B o we Ot 9 &) 1 80 b . /der SiR R &Y fireresR 7 1 71 60 b /8ieT B 1 79 Uy Her fba firFie Sapeit 22
Options:

1) 12

2)15

3)18

4) 20

Correct Answer: 15

Candidate Answer: 15

QID : 97 - In 2 years at simple interest the principal increases by 8%. What will be the compound interest earned (in Rs) on Rs 10 lakhs in 2 years at the same
rate?

2 Nt & YR S ¥ AT 8% 9 oAl 81 10 TRT IUA W I &R F 2 I8 & forg Tepqla st (vuat &) @ gme
Options:
1) 86000

2) 81600
3) 90000

4) 94000
Correct Answer: 81600
Candidate Answer: 81600

QID : 98 - If the compound interest for the 3"d and 4th year on a certain principal is Rs 125 and Rs 135 respectively, what is the rate of interest (in %)?

foret Ieem R R SR Y 99 & AT Iehgfs SIS HHR: 125 YD SR 135 FUT T | SIS B SR FT§ (% H)?
Options:

1)9

2) 10

3)8

4)12

Correct Answer: 8

Candidate Answer: 8



QID : 99 - A certain bank offers 8% rate of interest on the 15t year and 9% on the 2nd year in a certain fixed deposit scheme. If Rs 17,658 are received after
investing for 2 years in this scheme, then what was the amount (in Rs) invested?

FIS S foredt Trafy S Ao R ugd av F 8% PV &R I qUT g ¥ H 9% P &R F =1 a1 3| I 37 Ao & 2 a6 F e Y FA W 17,658 T e €
o ot TR iR (o 7) @@ o

Options:
1) 16000
2) 15000
3) 15500
4) 16500

Correct Answer: 15000
Candidate Answer: [ NOT ANSWERED ]

QID : 100 - What is the difference (in Rs) in Compound interest earned in 1 year on a sum of Rs 25,000 at 20% per annum compounded semi-annually and
annually?

25,000 TU TR 1 T & 1T 20% B R F GaNS Thgla s 3R alfies Tl ool §f 3iaR (FUT o) o1 gR?
Options:
1) 125

2) 250
3) 500

4) 375
Correct Answer: 250
Candidate Answer: 250



